N ikERBAE
Wireless Receiver Adaptor A=UWR >

DTV AUWRZBBEVRO W LEELTHIDEITETNET, A-UWRIE, IDXBD7LTR—TL—k P-V/P-VS, P-V2/P-VS2
EEHTTWAETAAOASICERTHTENERDZTA VL ALY —N—B7 2 T2—CF, N7 )—DREEICEOTA-UNRDF A X%
AETBHIENARETY, CHERIFLTRAREZ LCBFHAWLE TRIDKRICEUTIFTTEL,

B s5em/ myugss
P-V /P-VS - el _ P-V2 / P-VS2 @ M3/HZ/L6 7T x MA (FEHREA>)
 @asAYuTL—kxd 2SI AT EHASIER]
TR WVCEA A SADEEOBERBE A UTREC, 4 VT4 I8
DECHYET, ZOBAE NCHASREEASENADET &1,

@ M3/INMUR /L6 = x 48 (RHERD)
[P-V/VS/V2/NS2 T L—hE 2= N\—H )L TFL—NZERfT]

CHE: PVEOTL— MMIRABEN TV EMIX L8R D TEAEL,
A-UNRIZEIMEDOMI x L6 & SHEAT S,

B M26/H5/L5 = x 4 (RRAD)
[7HHEH) =TS 9hE 1= = LT L—MZEfT]

-

V.

%

5

&)

® M3//N(K/L6 %2 x 2{&

@ M4/ISA R /L5 32 x 2{&

® DDRIENL. TATYLALY—N—5IC
HROITFrybERYA T THSL,

QT7 Y )—T35v bk x1

L B
AT CED) Y SAUETREAR R x 44 (M3FR L 218/ MAR T 2f8)

[TAVLALY—N—EDHEREIR ]

*P-V/P-VSZEEET ABAREMEIA TN EIN-V—+ % COMEDRREFSHTE DT, 7o =TS pBERY
P-V/VSTL— FOEBEIZLTTHASEYFIFTLEEL, SNTEMNFARETT, (RRAEMYMTHRRE, RYMFHRLEIZD
ABEVEY)

(P-V2/PVS2DBAIET A—o— FEBERY £ A, )

W -y gv—r/anss~omynrng | se/ mrossmesT

INFYZHEIE TAHAS AJ-HDX900/400A /AJ-HPX2100% &, A-UWR fIEmE

JVCHIE FAHASOEY [FIF B - .
AR AR | FELEFOREYT I EED. THEYU—TShy b E
254 RLET, CHERIZESZNYT)—DYA XZE& 21
é | REBZRU. BEYIIELoNY ERORTTIEEL,
o

THEHY—T55y k h

- (- Grass Valley8lE T4 145
OBY R EE

o L
i B
1 (o] (o] (o]
o | e—>
: i 4-Rov3y @1 ) |
o

[ xRy Fy—09 4 Rz L1, IBEDOE SHEHNARETT,

INFYZYHBE FTANAS AG-HPX555Z M ERY 4+ 7L &

20071107

= N A i T214-0021 HEJNE) BT S EXEAFEE-28-11 Tel : 044-850-8801 Fax : 044-850-8838
**ﬂn*i ]I1' I Inx Home Page : http://www.idx.tv E-mail : idx.japan@idx.tv
RRICEITBDBBNEDEE LEICTRIFMHFTHEOFET,

-
i



Instruction Manual

Wireless Receiver Adaptor A=UWR %

The IDX A-UWR Wireless Receiver Adaptor allows users of IDX ENDURA System batteries and P-V/P-VS, P-V2/P-VS2
V-Mount plates to attach a Wireless Receiver to their camera. The A-UWR is camera “Universal” and can be adjusted for
use with either the ENDURA E-10/10S or E-7/7S or ENDURA ELITE and can be fully extended to accept batteries used in
PowerLink mode. For instructions on how to fit your A-UWR follow the simple steps set out below.

. Parts Description & Fitting Instruction

P-V /P-VS P-V2/P-VS2

@ Universal Mounting Plate x 1

(3 M3/CS/L6 Screws x 4 [Mounting Plate to Camera]

When fixing the mounting plate to JVC cameras “inch” screws are needed
and are not supplied with the A-UWR please contact your JVC dealer for
further information.

@ M3/Bind/L6 Screws x 4
[P-V/P-VS, P-V2/P-VS2 to Mounting Plate]

Use M3 x L6 here (instead of the M3 x L8 screws that come
included with the P-V plates) when attaching the A-UWR.

® M2.6/CS/L5 Screws x 4
[Receiver Holder to Mounting Plate]

Align the Wireless Receiver Holder with the 4 securing
points on the mounting plate and secure.

® M3/Bind/L6 Screws x 2
@ M4/Bind/L5 Screws x 2

@ Wireless Receiver Holder x 1

® Detachable Boss x 4
(Assembled) ®

[Wireless Receiver to Receiver Holder ]

* Fit the P-V/P-VS including rubber seal to the Mounting Plate, The receiver holder is supplied with 4 x detachable boss's
following the fitting instructions supplied with your P-V / P-VS. }’]Y';hfl'gt‘esr”r?'ac‘;”igargs fﬁ;ﬁ“éﬁ:‘(‘)gg t‘;‘: g"érses'gss receiver,
( For the P-V2 / P-VS2, the rubber seal is not needed. ) ! o ‘

. Universal Mounting Plate . Detailing Length Adjustment
For fitting to Panasonic camera model type A-UWR Side View
AJ-HDX900/400A / AJ-HPX2000 & JVC cameras _
—_— _+_ _____ | The length of the A-UWR can be set in four positions to suit
. 1 your battery set up. To adjust the length loosen the screws on

| -either side and align with required setting and re-tighten screws.

b

- - —(— = For fitting to
Grass Valley cameras

N

71
1

'@° :lﬂ \|]

o
o
o

4-positions & |

I-_o
e
|
|
5

2 o > 1
i

For fitting to Panasonic model type AG-HPX500

20071107
—— IDX Company, Ltd. : 6-28-11 Shukugawara, Tama-ku, Kawasaki-shi, Kanagawa-ken 214-0021, Japan ST,
([ J @ = Tel:+81-44-850-8801 Fax:+81-44-850-8838 E-mail:idx.japan@idx.tv ‘0203
==— IDX System Technology, Inc. : 1602 Lockness Place, Torrance, CA 90501 U.S.A.

Tel:+1-310-891-2800  Fax: +1-310-891-3600 E-mail : idx.usa @idx.tv
IDX Technology Europe, Ltd. : Unit 9, Langley Park, Waterside Drive, Langley, Berkshire SL3 6EZ, England
Tel:+44-1753-547-692 Fax:+44-1753-546-660 E-mail:idx.europe @idx.tv (S

http://www.idx:tv






